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1. (10%)

If you could exactly afford e1 1t§“"‘f"x and 21 units of y, or 9 units of

x and 5 units of », then if you

\

elptjﬂ f your income on » how many
o

units of y ¢ould you buy° _j

2. (10%)

If the demand curve for a good is ‘given by the equatlon q=2/p; where q is

' quantity and p is pnce ‘when the price p is $1, what is the elastlc:lty of

3. (10%)

Please epram why a monopolist will never choose to operate where the

demand cutve is inelastic.

4. (10%)

Suppose that one 1nd1v1dual’s-—démand e 18 D(p) 20- p -and another '

individual’s is D,(p)=10—2p.- —Wha‘hs rhe market demand function?

5. (10%)

A profit-maximizing competitive firm uses Just one input, x. Its production

function is g=4x"?. The price of output is $28 and the factor price isl $7.

What is the amount of the fact‘or that the firm demands?

A consumer’s ntili ﬁmctlon 1§ gi n X, X ) X, , where X, is ood 1
?g |_§ AR x’l 2 E
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and x2 is cood 2. The prices are p, =54, pq =$1and the consumer’s income

s m=40. If the price P, suaHénIy/falﬂ's to $2, find the demand change of

good 1 due to pare substltutlo,n_ef;j jll foame effect. -

7, (10%)

A consumér is an e:xpected utlllty maximizer- with a von Neumann-

1
Morgenstern utility fl.mcuon for Wealth u(w)=w?, If the consumer faces two

. choices:

(1) a lottery that payb $400 wrth‘;lohﬁbﬂ v 0.4 and $100 with probabilify
0.6, - O i-‘ A
2)a sure payment 0f $200. o

W'luch one will the consumer choose'?

‘8. (10%) - -

"A firm has the production function f (xl,-xz) =(\[x7 +3J372)2, where X, is factor

1 and x,. is factor 2 2. The priced iac ‘15 w; =81 and the price of factor 2

s wy, =81, If the firm Wants t[o ce 5 umts of output in the cheapest-

way, 'Whét are the amounts of f’l‘fackfdctor 2 that the firm demands‘?

9. (10%) -
The price of inpuis (‘fu xz,xg, x,) are (4, 1 3,2% If the productlon is gwen by

f(x,,xz,xs,x,,) min{x, +x,,x, "l*JfLL vhat is the minimum cost of producing

-......l
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10. 10%) :
o | ‘ C o An industry has two firms: a St _@gl@_lbt?xgjéader and a follower The price of
‘ ' ‘the industry. output is given by-Pl-»SJ ere 0 is the total output of the
‘ two firms. 1he follower has a m gpr&;ittaf $0. The leader hasa margmal
cost of $9. How much sho d~ fiie eader produce in order to maximize -

profits?
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